
Number System 
Ex. 1.6
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1-① 64¥
= 184¥
= ¥×¥t [ (aÑ= and
= 8

④ 32¥
= ⑦ ¥

= 2-*¥1 [:(any = am]
= 2

④ 125¥
= (S3) ¥

= 5-*✗¥1 [ : Cana)n= am]
= 5

2① 9¥
= (3)¥

= 3-121×31 [ : Cana)ⁿ= am]
= 33
= 27

④ 32
}

= (293
= 218×3>1 [ : Cana)n= am]
= 22

= 4

④ 16
}

= ③4) }

=
21-4×3×1 [ : Cana)n= am]

= 23

= 8
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④ 125¥
= ⑤ 3) -1--3

=
531×(1-3), [ : Cana)n= am]

= s
- t

= Is E. a-1- =±a]

3① 2¥
.

2¥
=

22-3++3 [ : am✗ an = ant]
= 21-9-51
= 2¥
④ ¥17
=¥→ [ ⇔:*]
= ¥7

[ :(am)n= am]= ¥
④ ¥:÷
= 11¥ - ¥ [ : aⁿ÷an= am]
= 11¥
=
11¥

④ 7-
±

. 8¥
= (7×8)

± E. aⁿxbⁿ=(a
= 56

±
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